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Exercise 22: Generating an Isochron Map

In Exercise 22, students will use their interpretation of the lines from Exercise 19 to generate an isochron (TWT thickness) map. They can use values for the top and base horizons posted during Exercise 20b to get the time thickness (Base Time minus Top Time), although this is not easy to do. It is probably easier to use a TWT scale with zero aligned with the top horizon and then read the time to the base horizon. NOTE: the instructions suggest that they contour the time thickness values lightly in pencil.

We have a sonic log from the discovery well. This can give us velocity information. As given in the instructions, an average interval velocity for the reservoir zone of 2500 m/s is appropriate. They are to complete a table of TWT thickness and thickness in meters.

The last step is to re-contour the thickness map in units of meters. They should use a color pencil to draw the thickness in meters contours. The two sets of contours should look very similar.
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This exercise should take about 30 minutes.
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